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(2) AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ
1) AUwaMZm
2) AUwD$Om© à³ën
3) {H$aUmoËgm[aVm
4) AmpÊdH$ àX²y>fU
5) AUwH$ama

1) AUwaMZm
1) ...... À¶m AUyÀ¶m ‘m°S>ob‘Ü¶o, Bbo³Q´>m°ZMm H$moZr¶ g§doJ hm h/2π ¶m n[a‘mUmMm A{d^mÁ¶ JwUH$ Amho.

1) ê$Xa’$moS>© 2) S>mëQ>Z 3) ~moha 4) ’$‘u
1) In .......... Model of an atom, the angular momentum (mvr) of an electron is an integral multiple of

the quantity h/2π.

1) Rutherford’s 2) Dalton’s 3) Bohr’s 4) Fermi’s

2) Imbrb {dYmZo nhm …
a) AUy hm {dÚwV^maÑîQ>çm CXmgrZ AgVmo.
b) H|$ÐH$m^modVr {’$aUmè¶m gd© Bbo³Q´>m°ZMm F$U {dÚwV^ma d H|$ÐH$mdarb F$U ^ma g‘mZ AgVmo.
n¶m©¶r CÎmao …
1) XmoÝhr MyH$ 2) XmoÝhr ~amo~a
3) (a) ~amo~a, (b) MyH$ 4) (a) MyH$, (b) ~amo~a

2) Consider the following statements :

a) An atom is electrically neutral.

b) The negative charge on nucleus is equal to the total negative charge of all the orbiting electrons.

Answer Options :

1) Both are incorrect 2) Both are correct

3) (a) correct, (b) incorrect 4) (a) incorrect, (b) correct

2) AUwD$Om© àH$ën
1) {Xboë¶m AUw {dI§S>Z {H«$¶oV, 1000 J«°.  AUw§Mo {dI§S>Z hmoD$Z ........... BVH$s D$Om© V¶ma hmoB©b.

a) 4.3 × 109 {H$bmo H°$bar b) 186 {‘{b¶Z Bbo³Q´>m°Z ìhmoëQ> (MeV)

c) 2 × 107 {H$bmo H°$bar d) 1.83 × 1010 {H$bmo H°$bar
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (c) 3) ’$º$ (a) Am{U (b) 4) ’$º$ (b) Am{U (d)

1) From 1000 g of   by the given nuclear fission process, the amount of energy released is

a) 4.3 × 109 kcal b) 186 million electron volts (MeV)

c) 2 × 107 kcal d) 1.83 × 1010 kcal

Answer Options :

1) Only (d) 2) Only (c) 3) Only (a) and (b) 4) Only (b) and (d)
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2) Imbrb n[aH$pënV A{^{H«$¶m nyU© H$am …

a) x = 141, y = 91 b) x = 139, y = 93 c) x = 141, y = 93 d) x = 139, y = 95

n¶m©¶r CÎmao …
1) ’$º$ (b) Am{U (d) 2) ’$º$ (a) Am{U (c)

3) ’$º$ (a) Am{U (b) 4) ’$º$ (c) Am{U (d)

2) Complete the following hypothetical reaction :

a) x = 141, y = 91 b) x = 139, y = 93 c) x = 141, y = 93 d) x = 139, y = 95

Answer Options :

1) Only (b) and (d) 2) Only (a) and (c) 3) Only (a) and (b) 4) Only (c) and (d)

3) D$Om© g_ñ`m gmoS>{dÊ`mgmR>r dmnaUmè`m AUweº$s [aA°ŠQ>a _Ü ò H$moUË`m nXmWm©Mo AmpÊdH$ {d^mOZ Ho$co OmVo ?
1) ẁao{ZA‘ 235 2) ẁao{ZA‘ 238 3) Wmo[aA_ 232 4) ao{S>A_ 226

3) To solve the problem of electricity, nuclear process occurs in nuclear power reactor by fission

of which material ?

1) U 235 2) U 238 3) Th 232 4) Ra 226

4) {dI§S>Z à{H«$ ògmR>r AmpÊdH$ AUŵ Å>r‘Ü ò dmnabo OmUmao AUwB§YZ åhUyZ Imbrbn¡H$s H$moUVm n`m©̀  MwH$sMm Amho?
1) Wmo[a`‘-232 2) ẁao{Z`‘-233
3) H±$S>{‘`‘-253 4) ßbwQ>mo{Z`‘-239

4) Which of the following options is INCORRECT as a nuclear fuel used in a nuclear reactor for the

fission process ?

1) Thorium-232 2) Uranium-233

3) Candmium-253 4) Plutonium-239

5) n¥Ïdrda {_iUmè`m gm¡a D$O}Mo _yi H$maU …
1) hm`S´>moOZ AUy§Mo EH$sH$aU 2) H$m~©Z AUy§Mo EH$sH$aU
3) hm`S´>moOZ AUy§Mo {dKQ>Z 4) H$m~©Z AUy§Mo {dKQ>Z

5) The solar energy that we receive on the Earth is due to ______.

1) Combination (fusion) of hydrogen atoms  2) Combination (fusion) of carbon atoms

3) Splitting (fission) of hydrogen atoms  4) Splitting (fission) of carbon atoms

6) gm¡a D$Om© ........... _wio CËnÞ hmoVo.
1) hm`S´>moOZMo ho{c`__Ü ò ê$nm§Va Pmco_wio 2) ho{c`_Mo hm`S´>moOZ_Ü ò ê$nm§Va Pmco_wio
3) hm`S´>moOZMo nmÊ`mV ê$nm§Va Pmco_wio 4) darcn¡H$s H$moUVohr Zmhr.

6) Solar energy is generated due to ......

1) Conversion of Hydrogen into Helium 2) Conversion of Helium into Hydrogen

3) Conversion of Hydrogen into Water 4) None of the above
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7) AUwD$Om© {Z{‘©Vr H|$ÐmÀ`m Imbrbn¡H$s H$moUË`m KQ>H$m‘Ü ò B§YZ AgVo Am{U gd© AmpÊdH$ H$Mam CËnmXZm§da
AmpÊdH$ gmIir à{V{H«$`m AgVo?
1) ñQ>r‘ OZaoeZ ẁ{ZQ> 2) Q>~m©BZ Am{U OZaoQ>a
3) AUŵ Å>r 4) Hy$qbJ Q>m°da

7) Which of the following components of a nuclear power generation station contains the fuel and

has a nuclear chain reaction with all of the nuclear waste products ?

1) Steam generation unit 2) Turbine and generator

3) Nuclear reactor 4) Cooling tower

8) Ý¶w³br¶ ^Å>r‘Ü¶o {Z¶m‘H$ OS> Ob hm H$m dmnabm OmVmo ?
a) Ý¶w³br¶ ^Å>r W§S> H$aÊ¶mgmR>r
b) Ý¶wQ´>m°ZMr D$Om© dmT>{dÊ¶mgmR>r
c) Ý¶wQ´>m°ZMr D$Om© H$‘r hmoD$Z Ë¶mMm doJ ‘§X ìhmdm, Am{U Ë¶mMo àJ«hU ìhmdo åhUyZ
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (c) 3) ’$º$ (a) 4) (a), (b) Am{U (c)

8) In nuclear reactors, why is moderator (heavy water) used ?

a) To cool the nuclear reactor

b) To enhance the energy of neutrons

c) To reduce the energy and hence the speed of neutron so that it slows down and gets captured

Answer Options :

1) Only (b) 2) Only (c) 3) Only (a) 4) (a), (b) and (c)

9) {dOoMr dmT>Vr _mJUr nyU© H$aÊ`mH$[aVm "B§{Xam Jm§Yr AUwg§emoYZ H|$ÐmZo' Imcrcn¡H$s H$m` V`ma Am{U {dH${gV
Ho$cm?
1) Xm~rV JwéOc [aEŠQ>a 2) JwéOc [aEŠQ>a
3) Vac gmo{S>A‘ Ûmam W§S> Ho$coco \$mñQ> ~«rS>a [aEŠQ>a 4) Wmo[aA_ AmYmarV [aEŠQ>a

9) Which of the following has been developed and designed by 'Indira Gandhi Centre for Atomic

Research (IGCAR)' to meet the growing demand for electricity ?

1) Pressurised heavy water reactor 2) Heavy water reactor

3) Liquid sodium cooled fast breeder reactor. 4) Thorium bases reactor

10) e¥§Ibm A{^{H«$¶mgmR>r {dI§S>Z hmoUmè¶m nXmWm©Mo gr‘m§V dñVw‘mZ AgUo H$m Amdí¶H$ AgVo ?
a) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z {ZgQy>Z OmÊ¶mgmR>r
b) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z doJdoJù¶m {XeoZo ’o$H$bo OmÊ¶mgmR>r
c) Ý¶wQ´>m°Z nH$S>bo OmD$Z e¥§Ibm A{^{H«$¶m gwê$ hmoD$Z Mmby ahmÊ¶mgmR>r
d) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z namd{V©V hmoÊ¶mgmR>r
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) Am{U (d) 4) ’$º$ (c)

10) For the chain reaction, why is it necessary to have critical mass ?

a) For neutrons to escape from the surface of the fission material

b) For neutrons to scatter from the surface of the fission material

c) To capture neutrons to start and sustain the fission reaction

d) For neutrons to reflect from the surface of the fission material

Answer Options :

1) Only (d) 2) Only (a) and (b) 3) Only (c) and (d) 4) Only (c)
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11) {dI§S>Z à{H«$¶m§‘Ü¶o {Z‘m©U hmoUmè¶m D$O}Mo à‘mU Imbrbn¡H$s H$moUË¶m ~m~rda/~m~tda Adb§~yZ AgVo ?
a) A{^{H«$¶m H$maH$mMo dñVw‘mZ b) CËnmXmMo dñVw‘mZ
c) A{^{H«$¶mH$maH$ Am{U CËnmXmMo dñVw‘mZ d) {dI§S>Zm§À¶m doir H$‘r Pmbobo dñVw‘mZ
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b)

3) ’$º$ (d) 4) ’$º$ (a) Am{U (d)

11) In fission processes, the amount of energy released depends on which of the following factor/s ?

a) The mass of the reactant b) The mass of the product

c) The mass of the reactant and product d) The loss in mass during fission

Answer Options :

1) Only (a) and (c) 2) Only (b) 3) Only (d) 4) Only (a) and (d)

12) OS> nmÊ¶mÀ¶m ~m~VrV Imbrbn¡H$s H$moUVo EH$ {dYmZ gË¶ Zmhr ?
1) OS> nmUr ho S>çwQ>o[a`‘ Am°³gmB©S> Amho.
2) Vo Cƒ Xm~mÀ¶m OS> nmUr AUŵ Å>rV, {Z¶§ÌH$ (‘m°S>aoQ>a) d erVbH$ (Hw$b§Q>) åhUyZ dmnabo OmVo.
3) ^maV, OS> nmÊ¶mMm, OJmV gdm©V ‘moR>m CËnmXH$ Amho.
4) ^m^m AUwg§emoYZ H|$Ð (BARC) Mm OS> nmUr {Z{‘©VrV gh^mJ Amho.

12) Which one of the following statements about heavy water is not true ?

1) Heavy water is deuterium oxide.

2) It is used as moderator and coolant in pressurized heavy water reactor.

3) India is the largest producer of heavy water in the world.

4) Bhabha Atomic Research Centre (BARC) is involved in the production of heavy

13) {dI§S>Z à{H«$¶m§‘Ü¶o {Z‘m©U hmoUmè¶m D$O}Mo à‘mU Imbrbn¡H$s H$moUË¶m ~m~rda/~m~tda Adb§~yZ AgVo ?
a) A{^{H«$¶m H$maH$mMo dñVw‘mZ b) CËnmXmMo dñVw‘mZ
c) A{^{H«$¶mH$maH$ Am{U CËnmXmMo dñVw‘mZ d) {dI§S>Zm§À¶m doir H$‘r Pmbobo dñVw‘mZ
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) 3) ’$º$ (d) 4) ’$º$ (a) Am{U (d)

13) In fission processes, the amount of energy released depends on which of the following factor/s ?

a) The mass of the reactant b) The mass of the product

c) The mass of the reactant and product d) The loss in mass during fission

Answer Options :

1) Only (a) and (c) 2) Only (b) 3) Only (d) 4) Only (a) and (d)

14) Ý¶w³br¶ ^Å>r‘Ü¶o {Z¶m‘H$ OS> Ob hm H$m dmnabm OmVmo ?
a) Ý¶w³br¶ ^Å>r W§S> H$aÊ¶mgmR>r
b) Ý¶wQ´>m°ZMr D$Om© dmT>{dÊ¶mgmR>r
c) Ý¶wQ´>m°ZMr D$Om© H$‘r hmoD$Z Ë¶mMm doJ ‘§X ìhmdm, Am{U Ë¶mMo àJ«hU ìhmdo åhUyZ
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (c) 3) ’$º$ (a) 4) (a), (b) Am{U (c)
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14) In nuclear reactors, why is moderator (heavy water) used ?

a) To cool the nuclear reactor

b) To enhance the energy of neutrons

c) To reduce the energy and hence the speed of neutron so that it slows down and gets captured

Answer Options :

1) Only (b) 2) Only (c) 3) Only (a) 4) (a), (b) and (c)

15) Ðì¶‘mZ 1 ¶w À¶m D$O}Mr g‘Vwë¶ ...... Amho.
1) 911 ‘oJm Bbo³Q´>m°Z ìhmoëQ> 2) 921 ‘oJm Bbo³Q´>m°Z ìhmoëQ>
3) 931 ‘oJm Bbo³Q´>m°Z ìhmoëQ> 4) 941 ‘oJm Bbo³Q´>m°Z ìhmoëQ>

15) Energy equivalent of mass 1 u is

1)  911 MeV 2)  921 MeV 3)  931 MeV 4)  941 MeV

16) 0.025 Bbo³Q´>m°Z ìhmoëQ> D$Om© Agbobm Ý¶yQ´>m°Z åhUOo -
1) Am¡pîUH$ Ý¶yQ´>m°Z 2) E{nW‘©b Ý¶yQ´>m°Z 3) doJdmZ Ý¶yQ´>m°Z 4) ‘§X Ý¶yQ´>m°Z

16) A  neutron having energy of 0.025 eV is a/an      ........

1) Thermal neutron 2) Epithermal neutron 3)  Fast neutron 4) Slow neutron

17) {Xboë¶m AUw {dI§S>Z {H«$¶oV, 1000 J«°.  AUw§Mo {dI§S>Z hmoD$Z ........... BVH$s D$Om© V¶ma hmoB©b.

a) 4.3 × 109 {H$bmo H°$bar b) 186 {‘{b¶Z Bbo³Q´>m°Z ìhmoëQ> (MeV)

c) 2 × 107 {H$bmo H°$bar d) 1.83 × 1010 {H$bmo H°$bar
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (c) 3) ’$º$ (a) Am{U (b) 4) ’$º$ (b) Am{U (d)

17) From 1000 g of   by the given nuclear fission process, the amount of energy released is

a) 4.3 × 109 kcal b) 186 million electron volts (MeV)

c) 2 × 107 kcal d) 1.83 × 1010 kcal

Answer Options :

1) Only (d) 2) Only (c) 3) Only (a) and (b) 4) Only (b) and (d)

18) Imbrb n[aH$pënV A{^{H«$¶m nyU© H$am …

a) x = 141, y = 91 b) x = 139, y = 93 c) x = 141, y = 93 d) x = 139, y = 95

n¶m©¶r CÎmao …
1) ’$º$ (b) Am{U (d) 2) ’$º$ (a) Am{U (c) 3) ’$º$ (a) Am{U (b) 4) ’$º$ (c) Am{U (d)

18) Complete the following hypothetical reaction :

a) x = 141, y = 91 b) x = 139, y = 93 c) x = 141, y = 93 d) x = 139, y = 95

Answer Options :

1) Only (b) and (d) 2) Only (a) and (c) 3) Only (a) and (b) 4) Only (c) and (d)
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19) e¥§Ibm A{^{H«$¶mgmR>r {dI§S>Z hmoUmè¶m nXmWm©Mo gr‘m§V dñVw‘mZ AgUo H$m Amdí¶H$ AgVo ?
a) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z {ZgQy>Z OmÊ¶mgmR>r
b) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z doJdoJù¶m {XeoZo ’o$H$bo OmÊ¶mgmR>r
c) Ý¶wQ´>m°Z nH$S>bo OmD$Z e¥§Ibm A{^{H«$¶m gwê$ hmoD$Z Mmby ahmÊ¶mgmR>r
d) {dI§S>Z hmoUmè¶m nXmWm©À¶m n¥ð>^mJmdê$Z Ý¶wQ´>m°Z namd{V©V hmoÊ¶mgmR>r
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) Am{U (d) 4) ’$º$ (c)

19) For the chain reaction, why is it necessary to have critical mass ?

a) For neutrons to escape from the surface of the fission material

b) For neutrons to scatter from the surface of the fission material

c) To capture neutrons to start and sustain the fission reaction

d) For neutrons to reflect from the surface of the fission material

Answer Options :

1) Only (d) 2) Only (a) and (b) 3) Only (c) and (d) 4) Only (c)

20) {dI§S>Z à{H«$¶m§‘Ü¶o {Z‘m©U hmoUmè¶m D$O}Mo à‘mU Imbrbn¡H$s H$moUË¶m ~m~rda/~m~tda Adb§~yZ AgVo ?
a) A{^{H«$¶m H$maH$mMo dñVw‘mZ b) CËnmXmMo dñVw‘mZ
c) A{^{H«$¶mH$maH$ Am{U CËnmXmMo dñVw‘mZ d) {dI§S>Zm§À¶m doir H$‘r Pmbobo dñVw‘mZ
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) 3) ’$º$ (d) 4) ’$º$ (a) Am{U (d)

20) In fission processes, the amount of energy released depends on which of the following factor/s ?

a) The mass of the reactant b) The mass of the product

c) The mass of the reactant and product d) The loss in mass during fission

Answer Options :

1) Only (a) and (c) 2) Only (b) 3) Only (d) 4) Only (a) and (d)

21) Ý¶w³br¶ ^Å>r‘Ü¶o {Z¶m‘H$ OS> Ob hm H$m dmnabm OmVmo ?
a) Ý¶w³br¶ ^Å>r W§S> H$aÊ¶mgmR>r
b) Ý¶wQ´>m°ZMr D$Om© dmT>{dÊ¶mgmR>r
c) Ý¶wQ´>m°ZMr D$Om© H$‘r hmoD$Z Ë¶mMm doJ ‘§X ìhmdm, Am{U Ë¶mMo àJ«hU ìhmdo åhUyZ
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (c) 3) ’$º$ (a) 4) (a), (b) Am{U (c)

21) In nuclear reactors, why is moderator (heavy water) used ?

a) To cool the nuclear reactor

b) To enhance the energy of neutrons

c) To reduce the energy and hence the speed of neutron so that it slows down and gets captured

Answer Options :

1) Only (b) 2) Only (c) 3) Only (a) 4) (a), (b) and (c)
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3) {H$aUmoËgm[aVm
1) {Q´>{Q>¶‘Mo AYm©¶wî¶ 12.5 df} AgyZ Ë¶mMm ~rQ>m {H$aUm§Zr j¶ hmoVmo¶. 25 dfmªZ§Va ‘yi {Q´>{Q>¶‘Mm {H$Vr A§e Aj¶

{e„H$ amhrb?
1) 0 (eyÝ¶) 2) 0.5 3) 0.25 4) 0.125

1) Tritium has a half-life of 12.5 years, undergoing beta decay. What fraction of original Tritium

will remain undecayed after 25 years?

1) 0 (zero) 2) 0.5 3) 0.25 4) 0.125

2) Oa T Am{U 1 ho {H$aUmoËgJu Ý ỳŠbmBS>Mo AY©Am ẁî` Am{U gamgar Am ẁî` H$mbmdYr Agob, Va AY©Am ẁî`mMo
gamgar Am ẁî` H$mbmdYrer JwUmoÎma ...... Amho.

1) T = 0.3% 2)  T = 0.693% 3) T = 0.963 4) T = 0.936
 τ       τ       τ       τ

2) If T and 1 be the half life and mean life periods of radioactive nuclide, then the ratio of half life to

mean life period is ......

1) T = 0.3% 2)  T = 0.693% 3) T = 0.963 4) T = 0.936
 τ       τ       τ       τ

3) ‘mZdmgmR>r {H$aUmoËgJm©Mm àmUKmVH$ S>mog Amho
1) 102-103 a°S>g 2) 103 -105 a°S>g 3) 107 -109 a°S>g 4) 105-107 a°S>g

3) The lethal dose of irradiation for human being is

1) 102-103 rads 2) 103 -105 rads 3) 107 -109 rads 4) 105-107 rads

4) Ooìhm α - H$U {H$aUmoËgmar KQ>H$mVyZ ~mhoa nS>VmV Voìhm ...........
1) AUwA§H$ 2 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 4 Zo H$‘r hmoVmo.
2) AUwA§H$ 1 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 2 Zo H$‘r hmoVmo.
3) AUwA§H$ 1 Zo dmT>Vmo.
4) AUwA§H$ Am{U AUwdñVw‘mZ§mH$ ~XcV Zmhr.

4) When  particle emits from a radioactive element then

1) atomic number decreases by 2 and mass number decreases by 4

2) atomic number decreases by 1 and mass number decreases by 2

3) atomic number increases by 1

4) atomic number and mass number remains same

5) amoJ {ZXmZmV gm‘mÝ¶V… H$moUVo {H$aUmoËgO©H$ g‘ñWm{ZH$ dmnabo OmVo ?
1) Q>o³Zo{Q>¶‘ - 90 2) AmB©ZñQ>o{Z¶‘ - 253 3) H°${b’$mo{Z©¶‘ - 249 4) ~H}${b¶‘ - 249

5) Which radioactive isotope is commonly used in diagnosis ?

1) Technetium — 99 2) Einsteinium — 253 3) Californium — 249 4) Berkelium — 249

6) {H$aUmoËgmamMm emoY H$moUr bmdbm?
1) ‘mar ³¶war 2) ê$Xa’$moS>© 3) AmB©ZñQ>mB©Z 4) hoÝar ~oŠdoaoc

6) Who discovered radioactivity ?

1)  Marie Curie 2)  Rutherford 3)  Einstein 4)  Henry Becquerel
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7) ........... ho CËnmXZmda {H$aUmoËgJu òmoV qH$dm BboŠQ´m°ÝgÀ`m J°‘m ao{S>EeZÀ`m g§nH$m©V AmUyZ {Z §̀{ÌV n[apñWVrV
CnMma Amho.
1) {H$aUmoËgJu 2) OmoZmBqPJ ao{S>EeZ 3) Ba°{S>EeZ 4) AmBgmoW‘©

7) ............... is a treatment of product by exposing it to gamma radiation from radioactive source or

electrons under controlled conditions.

1) Radioactivity 2) Jonizing radiation 3) Irradiation 4) Isotherm

8) H¥${f joÌmV, "àmaU V§ÌkmZ' ............... ¶mV ¶moJXmZ XoV Amho.
a) Cƒ CËnÞ XoUmè¶m {~¶mUm§Mm {dH$mg b) IVm§À¶m dmnamMo AZwHy$bV‘Z
c) H$sQ>H$ {Z¶§ÌU d) AÞmMo OVZ
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) (a) Am{U (d) 3) (a), (b) Am{U (d) 4) (a), (b), (c) Am{U (d)

8) In the field of agriculture, ’radiation technology’ is contributing to

a) the development of high yielding crop seeds b) optimizing use of fertilizers

c) pest control d) preservation of food

Answer Options :

1) Only (d) 2) (a) and (d) 3) (a), (b) and (d) 4) (a), (b), (c) and (d)

9) Ho$gmg§~§Yr CËnmXZo Am{U H$m°ÝQ>°³Q> boÝg gmoë ỳeZ ¶mgmaIo J«mhH$ gm¢X¶©àgmYZo {ZOªVyH$ H$aÊ¶mgmR>r H$moUË¶m
àH$maMo ao{S>EeZ ‘moR>çm à‘mUmda dmnabo OmVo ?
1) Aë’$m 2) {~Q>m 3) J°‘m 4) Ý ỳQ´m°Z

9) Which type of radiation is widely used to sterilise consumer cosmetics such as hair products and

contact lens solutions ?

1) Alpha 2) Beta 3) Gamma 4) Neutron

10) AÞmdarb àmaUm§À¶m à{H«$¶o~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) ¶mMm dmna gmR>dU H$mb‘¶m©Xm dmT>{dÊ¶mgmR>r Am{U {ZOªVwH$sH$aUmgmR>r H$aVmV.
b) ¶m à{H«$¶oV J°‘m {H$aUo d Adaº$ {H$aUo ¶m§gma»¶m Cƒ D$Om©¶wº$ àmaUm§Mm Cn¶moJ hmoVmo.
c) hr à{H«$¶m ~Q>mQ>o d H$m§Xo ¶m§Zm A§Hw$a (H$m|~) ’w$Q>Ê¶mMr j‘Vm jrU H$aVo.
d) ¶m à{H«$¶oV dmnaë¶m OmUmè¶m àmaUmMr ‘mÌm "Jm°g' ¶m EH$H$mV ì¶º$ H$aVmV.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (c) 2) ’$º$ (a), (b) Am{U (c)

3) (a), (b), (c) Am{U (d) 4) ’$º$ (b), (c) Am{U (d)

10) Which of the following statements are correct regarding radiation processing of food ?

a) It is used for extension of shelf-life and insect disinfestation.

b) The process utilizes energy from high energy radiations such as gamma rays and infrared rays.

c) The process impairs the ability of potato and onion to sprout.

d) Radiation dose used in this process is expressed in units of’Gauss’.

Answer Options :

1) Only (a) and (c) 2) Only (a), (b) and (c)

3) (a), (b), (c) and (d) 4) Only (b), (c) and (d)
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11) nmoëQ´r CËnmXZm§‘Ü ò AÞ {d{H$aUmMm CÔoe H$m` Amho?
1) A§Hw$a ’w$Q>Uo 2) naOrdr Zï> hmoUo
3) gmc‘moZocm {ZpîH«$` H$aUo 4) AÞ KQ>H$m§Mo {ZOªVwH$sH$aU

11) What is purpose of food irradiation in poultry products ?

1) Inhibition of sprouting 2) Destruction of parasite

3) Inactivation of salmonella 4) Decontamination of food ingredients

12) Imbrb {dYmZm§Mm {dMma H$am …
a) ‘¥V àmUr AWdm dZñnVr ¶m§Mo‘Ü¶o H$m~©Z-14 Vo H$m~©Z-12 ¶m§Mo JwUmoÎma ~XbV AgVo.
b) {H$aUmoËgmar H$m~©Z-14 g‘ñWm{ZH$mMm dmna H$m~©Zr d¶‘mnZm‘Ü¶o H$aVmV.
n¶m©¶r CÎmao …
1) {dYmZ (a) gË¶ Amho Am{U (b) {dYmZmMr H$maU{‘‘m§gm Amho.
2) (a) Am{U (b) XmoÝhr {dYmZo MyH$ AmhoV.
3) (a) {dYmZ gË¶ Amho na§Vw (b) MyH$ Amho.
4) (a) Am{U (b) EH$‘oH$m§er g§~§{YV ZmhrV.

12) Consider the following statements :

a) The ratio of 14C to 12C changes continuously for dead bodies or plants.

b) Radioactive isotope Carbon-14 is used in a Carbon dating technique.

Answer Options :

1) Statement (a) is true and is a reason of (b)

2) Both (a) and (b) are not true

3) (a) is true but (b) is false

4) (a) and (b) are not related to each other

13) Imcrc H$moUVo {dYmZ MwH$sMo Amho?
A) àË¶oH$ Or{dV àmUr H$m~©Z ‘YyZ C - 14 KoVmo.
~) àË¶oH$ {OdmV EH$mM à‘mUmV C - 14 AgVmo.
H$) ‘¥Ë¶yZ§Va Ord EH$mM à‘mUmV H$m~©Z ’o$H$Vmo
S>) AYm© C - 14 ‘¥Ë¶y Z§Va 5568 dfmªZr Zmhrgm hmoVmo Á¶mg "hm’$ cmB’$ Am°’$ C - 14 (gr-14 Mo AY} Am¶wî¶)

g§~mo{YVmV.
B) hr nÕV nwamVÎdemómV H$mcH«$‘dmar R>a{dÊ¶mg dmnaVmV.
’$) hr nÕV E’$. S>ãë¶y. {c~r ¶m§Zr emoYyZ H$mT>cr.
O) Ë¶m§Zm ¶mH$aVm nXmW© {dkmZmVrc Zmo~oc nm[aVmo{fH$ {‘imco.
n¶m©¶r CÎmao …
1) B 2) ’$ 3) O 4) H$moUVohr Zmhr

13) Which one of the following statements is incorrect?

a) Every living organism takes C - 14 through carbon.

b) Every living being has the same proportion of carbon 14.

c) After death every living organ throws same percentage of carbon.

d) After 5568 years of death half of C-14 will disappear which is called as half life of carbon -14.

e) The method is used to get chronological evidence of archaeological remain.

f) This method was invented by F. W. Liby.

g) He won the Nobel Prize in Physics for this.

Answer Options :

1) E 2) F 3) G 4) None
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4) AmpÊdH$ àX²y>fU
1) Imbrb {dYmZo nhm …

a) MZm}~rb AUweº$s AnKmV 26 E{àb 1986 amoOr Pmbm.
b) pñdS>Z‘Yrb emókm§Zm 1986 ‘Ü¶o AmOw~mOyÀ¶m n¶m©daUmV {H$aUm§Mo CËgO©Z (Radiation) Pmbobo g‘Obo.
c) MZm}~rb àH$ënmV J«°’$mBQ>Mm Cn¶moJ AUŵ Å>r (Reactor) W§S> H$aÊ¶mgmR>r Ho$bm OmV hmoVm.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho.
2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a) Am{U (c) ~amo~a AmhoV.
4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV.

1) Observe the following statements :

a) Chernobyl nuclear power accident occured on 26 April 1986.

b) The Scientists from Sweden noticed increasing radiation in the surrounding environment

in1986.

c) Graphite was used to cool reactors in Chernobyl plant.

Answer options :

1) Only Statement (a) is correct

2) Statement (a) and (b) are correct

3) Statement (a) and (c) are correct

4) Statement (a), (b) and (c) are correct

5) AUwH$ama
1) ^maVm‘Ü¶o {H$aUmoËgJm©nmgyZ qH$dm AUy D$Om© àUmbr nmgyZ g§ajU XoÊ¶mMr ImÌr XoUo ho ............. ¶m g§ñWoMo ‘w»¶

H$m‘ Amho.
1) {d{H$aU d g‘ñWm{ZHo$ V§ÌkmZ ‘§S>i (BRIT)

2) ^maVr¶ A§Vami H|$Ð
3) Q>mQ>m ‘yc ŷV g§emoYZ H|$Ð
4) AUy D$Om© {Z¶m‘H$ ‘§S>i (E.B©.Ama.~r.)

1) To ensure the protection from radioactive emission or atomic energy radiation in India is the

main function of

1) Board of Radiation and Isotope Technology

2) Indian Space Centre

3) Tata Institute of Fundamental Research

4) Atomic Energy Regulatory Board (AERB)
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CÎmao … (2) AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

1) AUwaMZm
1-3 2-3

2) AUwD$Om© àH$ën
1-1 2-3 3-1 4-3 5-1 6-1 7-3 8-2 9-3 10-4
11-4 12-4 13-4 14-2 15-3 16-1 17-1 18-3 19-4 20-4
21-2

3) {H$aUmoËgm[aVm
1-3 2-2 3-1 4-1 5-1 6-4 7-3 8-4 9-3 10-1
11-3 12-1 13-3

4) AmpÊdH$ àX²y>fU
1-4

5) AUwH$ama
1-4


